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1 EEZEBEX G

PR M R A S 2 — . AT JAT TR R s A SR & ] AHE T 3 58— fRC A &5
F4, BV B & 75 8] (metric space).

EX1 % X A—EZTEE, d=d(-,-) &2 X EH—A"JuRE. & d e SR
x,y, 2 € X, L

(1) Bt d(z,y) >0 FFH dz,y) =0 HHY 2 =y;

(2) XFRME: d(z,y) = d(y, z);

(3) SHABR: d(r,y) < d,2) +d(2,y),
WIFR d =d(-,-) & X ER—"EEE, JFR (X, d) R .

JEE A A AR g i 2 ), e RE R R, ) x, y REETR (X, d) TR
m WRR d(z,y) N x5y ZIERIEEES. 2 LIR R AFL. SR AF2MSF 3R RO =2
B, FR A2 AR AT — AN SR A

B HYAE, /£ R™ 5 U — o U — R & (PR YRR REE )

d(z,y) = /(51 —t1)2+ (s2 — t2)2 4+ - - + (50 — tn)2, (1.2)

:/H\:EF' xr = (817827' o 7STL)7 Y= (t17t27 T 7tn) € R™. JH: (Rn’d) mﬁi—/l\giflﬁj, iF;J—(y‘j
n ZERK A5 A].

il W X N —AETES, EX X BRI d=d(.,-) WnF:

1, 4 ;
d(z,y) = { 0 é‘ziz (1.3)

H 2,y e X BHWAE d = d(-,-) /& X EH—/NEE S (EIH 2 e X i =AN%&A48), A
1M (X, d) PR P 2 [ R Oy s P o 2 ).

SRR, AERARE RS EanT DUE M, 2 oy — N ERE . 51 N
2 B U B 2 () (B — S TR AR BT 4. IRFE IR A (0] R TE 2 b Sk .

Bl2 B S FR A BRI RO & (B4 S MR HI R 2, 3 S L1
SR d = d(-,-) WF

ZOO L& — il
d = _ .
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Hh e = (&4,&, &)y = (mumes - i, ---). Wod & S BERI—ANERE, i
(S, d) M — R ASA], FRoAF525 1A

FLSE, d(-, ) AR AL IR SE PEAR A AR B L 25 A (R SCLP I 26 AR LA 26 1F2).
IEE WL =MAER, NIIRATE SGUEN a0k 70 A

la + 0| |al |b]
< + 1.5
l+|a+b — 1+]al 1419 (1.5)

Hra, b NAEREANEE. K, R f(t) = 15 XA [0,00) ER—DIEERE. BT
la + b < |a| + |b], FTLA

la + bl < ol +16] |al || < |al N ||
T+la+b ~ 1+al+ b 1+al+|b] 1+al+1b] — 1+]a] 1+]0

AR =, y, z€ S I H

(51752)"'75/%"')7
(77 7727"'a77k7"')7
( CZ:"'?gkv'”)‘
T AN 2 14'?\22'1)\ 1—‘:L||a\ + 1-‘&-||b| Aty
€ —mel G =)+ (G —m)| 16— G |G — k|

T4 |6 —mel 1416 —Ce) + (G —me)l — 1+ 16 — Cel 1+ — el
Hdr k> 1. 25 iR AP ot 43501 26 LA 1 2% SR SR A1

L G—ml =1 &% =Gl =[Gl
;Wf + 1€k — | <Z2k1+!€k—Ck\ Z 2M1 + |G — |’
Bl d(z,y) < d(z,2) +d(z,y). RFERAMELAE T Lk (S,d) 2—NMEEDM. ABIE,
TEFPA 2200 (S, d) s pior
d(z,y) <1, Vaz,yeSs.
KR FHNZZE) (S, d) A5 2 S (LG 2755 1A R BHR).
B3 & QB —NETES, UL B(Q) For Q ERAARSIE R 50(3UR E R 20 R T
. EX B(Q) FRIZIeRE d =d(-,-) WF:
d(f, )—Suplf( ) —gW)l, f, g€ B(Q). (1.6)

we

W d & B(Q) LR, I (B(Q),d) #p— RS0, FRONAT 5 R 80 6.
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5z, P E RO 25 1 d PR E 5 M RDRIRACME, 25 A 4o (2 (sRBE) M G
A EH d RS ARER Y Q= [a,0] M, AT BQ) K08 Bla, b

fila ¥ X Cc R" Z2—MNEEFWLATIE, JFH m(X) < co. L M(X) £nE XAE X
A RS (B ) LA R B R S S ST £, g € R™, 24 f(t) = g(t) a.e. T X B,
HE f=g. £ MX) b s o

|f(t) —g(t)]
d = d M(X). 1.7
(ro) = | Lot e mx) (17)
W d s M(X) ER—NEEES, AT (9(X), d) K — AN BE 25 ), BR o mT il R 22 ).

s, B TIREE d = d(,) BAEEREAMEE. FRASR 1o <

1+]a+d] —
oL+l EATLHER d e = AR, B d 2 o(X) LM,

515 LA Cla,b] FonE XAEXE [a,b] LHIEARSAE (B EE)E SR BRI A . 18
Cla,b] FE T ok

d(z,y) = max [o(t) —y(t)|, =,y € Cla,b. (1.8)

W d 72 Cla,b] ER—NEEE, AT (Cla, b], d) RIS EER 28], FROYIESE R 20 ).

SCHRHHAE LRI Cla, b] ERBRBEEE. JFEEATR2FE R, Cla,b] Lik
ATAGIE e A E R S, & 440 LP BEE.
W oo = {ap} 2 NEEHI. K o = {xp} £V, R ITAA R, &)

Y2t < 0.
Bl6 D12 65 e BT RSB R 4. 75 12 b5 S e d — d(-, )
R

d(z,y) = {Z(l’k - yk)2} : (1.9)

k=1
Hobt o = {z}, y = {ye} € 2. W d & 12 LM—ANEES, T (12, d) HR—AN 8230,
FRA 12 23]
HIGE =A% M 2 = {o), y={w), 2 ={=m} € 2. WTF n>1, B d™
Fox R™ _ERRRERER RS, I H I

() = (y17y27” : 7yn)7 Z(n) = (217227'” )Zn)v

‘r(n) = (.’El,JZ'Q,"' 7'1"71)) Y

)H\U gj(n)7 y(n)7 Z(n) [ Rn’ }J\ﬁﬁﬁ

4 (2, 5™ < g (20 MY 4 g (0 ) < d(z, 2) + d(z, ).
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A n — oo, FHAFEREF] d (2™, yM) = d(z,y), EH d(z,y) < d(z,2) +d(z,y). Xt
B d 3 2 = AR



